1 _ 2 [ 3 [ 4 [ 5 6 7 [ 8
Mg Spec. | BUTE mm | BEFE(ES)mm | BRRBELEN kof | REEEH rp.m. GD? B8 kg ®ERER Confirmed
&g Model\| Plunger Stroke | Jow Stroke (Dia.) | Max D.B. pull Max speed kg 'm’ Weight
FA—-610 18 10 280 1200 0.04 14.5

KRR B MR R R E A |

4~M10x1.5x90L

*Please send back with

order while ordering.

4~M10x1.5x16%

»156

x5

PBHBx 10%

-
Q

40+0.02

®20 H7

R JEEH

X AHERERTEOREE  WASHIASEEE .

17 2~M10x1.5x45L
N (ece 3 |
e e I
I I I ﬂ
M12x1.75 %
\ s | .
/ q|| M+
= N / 7
d N N
S = : ‘ ‘ ‘ ~_ \l!
M ) o L+
A /J
max.66 - ~o X _
min.48 /// |
~NJ
L 7 || &Q
\ 1) = = |
5
107
110

SINGLE—SLIDE FACING HEAD

xSubject to technical changes.

40

o]

o
o,

7 o, TEBEIFILARTT AR E)
LAUTRDZAD [ 5i06m MACHNERY Co.. LTD.

A3 | bk | A ]

1]

2 _

3

_ 4

| &% |

AKF1206100G

| 848 | s%oi& | B8 [2024-01-23 | # % | \CHK\CF-FA-610




